### A RESOLUTION OF THE TOWNSHIP OF NORTH BRUNSWICK AUTHORIZING THE AWARD OF CONTRACT BID24008 TO NATIONAL WATER MAIN CLEANING COMPANY FOR MANHOLE REHABILITATION SERVICES UNDER THE DEPARTMENT OF PUBLIC WORKS SEWER DIVISION

**WHEREAS,** the Department of Public Works Sewer Division is responsible for providing maintenance and repairs of the municipal sanitary sewer system; and

**WHEREAS,** the current contract for manhole rehabilitation services (National Water Main Cleaning Co.) ended on January 31, 2024 and the vendor *did not* authorize an extension; and

**WHEREAS,** it is hereby the Director's recommendation to solicit and receive bids for Manhole Rehabilitation Services; and

WHEREAS, on May 28, 2024, the Township Council approved Resolution #166-5.24 authorizing advertisement for receipt of bids for Manhole Rehabilitation Services, BID24008; and

**WHEREAS**, the Municipal Clerk witnessed the receipt of four (4) bid(s) on June 18, 2024; and

**WHEREAS**, the bid submitted by National Water Main Cleaning Company (1806 Newark Turnpike, Kearney, NJ 07032) in the amount of \$314,500.00, for estimated quantity items 1-11, was determined to be the lowest responsible and responsive bidder; and

WHEREAS, Township Attorney Ronald Gordon has reviewed the bid submitted by National Water Main Cleaning Company and determined them responsive under the provisions of the Local Public Contracts Law (<u>N.J.S.A</u>. 40A:11-1 et seq.) and all other provisions of the revised statutes of the State of New Jersey; and

WHEREAS, the three-year contract with National Water Main Cleaning Company shall commence on July 1, 2024 and end June 30, 2027 and includes an option for two (2) additional one-year terms; and

**NOW THEREFORE, BE IT RESOLVED,** that the bid submitted by National Water Main Cleaning Company is hereby accepted. **BE IT FURTHER RESOLVED,** on this 24<sup>th</sup> day of June 2024, that the Township Council of the Township of North Brunswick does hereby authorize the Mayor to execute, and the Township Clerk to witness, an agreement with National Water Main Cleaning Company for the Manhole Rehabilitation Services, estimated items 1-11, in the amount \$314,500.00.

#### **CERTIFICATION**

I, Cavel Gallimore, Chief Financial Officer, hereby certify shall be made available for this purpose in the Sewer Operating – Maintenance Account 5-07-55-502-000-183 for services ending June 30, 2025 and the balance of funds shall be certified upon the appropriation of funds in FY2026. Contract BID24008.

Cavel Gallimore Chief Financial Officer Steve Bloyed Director of Public Works

Justine Progebin Business Administrator Ronald Gordon, Esq. Township Attorney Approved as to legal form

#### **RECORDED VOTE:**

HECCHEEP (CIL)				
COUNCIL MEMBER	YES	NO	ABSTAIN	NOTES
MEHTA				
GUADAGNINO				
ANDREWS				
DAVIS				
SOCIO				
HUTCHINSON				
MAYOR WOMACK				

I hereby certify that the above Resolution was duly adopted by the Township Council of the Township of North Brunswick, County of Middlesex, at its meeting held on June 24, 2024.

Lisa Russo Township Clerk

#### **RECEIPT OF PROPOSALS**

Results from the receipt of BIDs on Tuesday, June 18, 2024 by way of virtual: https://us02web.zoom.us/j/85710455801?pwd=obpAWLhubEgrn6yHzeaegOuaBWwXUi.1

<b>Present:</b>	Samantha Sickles, Purchasing Agent
	Nellie Sowell, Clerk 3

Notice to Bidders was advertised in the Home News & Tribune as according to law.

Receipt of bids is closed.

The following receipt of bids were received:

BID24008 – Manhole Rehabilitation Services	No Bond required	Total Amount BID
National Water Main Cleaning Company 1806 Newark Turnpike Kearny, NJ 07032		\$314,500.00
PIM Corporation 201 Circle Drive North, Suite 105 Piscataway, NJ 08854		\$364,925.00
J. Fletcher Creamer & Son, Inc. 101 E. Broadway Hackensack, NJ 07601		\$654,655.00
Sewer Rat Trenchless Solutions, LLC 1001 Hopewell Ave. Ocean Township, NJ 07711		\$2,343,750.00

A report will be presented to the Township Council for possible award at the next Township Council Meeting.

Lisa Russo, Municipal Clerk

## PROPOSAL SHEET

Township of North Brunswick 710 Hermann Road North Brunswick, New Jersey 08902

Sealed Bids: BID24008 Bid Title: Manhole Rehabilitation Services

Grand Total Amount BID: \$ 314,500.00

Grand Total Amount BID in words:

Three Hundred Fourteen Thousand Five Hundred Dollars and Zero Cents

The undersigned herein states that he or an authorized member of his firm has studied all the bid documents and conditions and we are thoroughly familiar with the items to be provided and the delivery provisions. We further agree to enter into a contract if awarded.

It is certified that the below named is authorized to make such a proposal.

Vendor Name:	National Water Main Cleaning Company									
	(type)									
Address:	1806 Newark Turnpike, Kearny, NJ 07032									
	(type)									
	Joseph Perone									
$\langle$	(type)									
	(signature)									
	President									
	(type position)									

# PROPOSAL SHEET

### Sealed Bids: BID24008 Bid Title: Manhole Rehabilitation Project

# Manhole Reconstruction

Item	Unit Price per vertical foot		Vertical Feet		Amount		Estimated Quantity		Tetel DID
1	\$340.00	X	Up to 5 vertical feet	=	\$1,700.00	X	5	=	Total BID \$8,500.00
2	\$285.00	X	Up to 10 Vertical Feet	=	\$2,850.00	X	10		\$28,500.00
3	\$285.00	X	Up to 15 Vertical Feet	=	\$4,275.00	X	10		\$42,750.00
4	\$265.00	X	Up to 20 Vertical Feet		\$5,300.00	X	10	=	\$53,000.00

## Manhole Benches

Item	Unit Price per foot – diameter		Feet		Amount		Estimated Quantity		Total BID
5	\$150.00	X	Up to 5 feet in diameter	=	\$750.00	X	15		\$11,250.00
6	\$100.00	X	Up to 10 feet in diameter	=	\$1,000.00	X	15	unitier skinger	\$15,000.00

# Manhole Channels

Item	Price per Unit		Estimated Quantity	
7	\$250.00	v	20	 Total BID
	+230.00		30	\$7,500.00

# Manhole Epoxy Coating

		1		1	- Charles and the second se				
Item	Price per vertical foot	<u> </u>	Vertical Feet		Amount		Estimated Quantity		Total BID
8	\$370.00	X	Up to 5 vertical feet	=	\$1,850.00	X	5		\$9,250.00
9	\$315.00	X	Up to 10 vertical feet	=	\$3,150.00	X	10	=	\$31,500.00
10	\$315.00	X	Up to 15 vertical feet	=	\$4,725.00	X	10		\$47,250.00
11	\$300.00	X	Up to 20 vertical feet	=	\$6,000.00	X	10		\$60,000.00
		<u>I</u>							+00,000.00

Total (Items 1-11) \$ 314,500.00

This proposal is for Manhole Protective Coating at Various Locations as per Specifications